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LetD=R-1{0.1}and f:D—D.g:D — Dand/ : D— D be three functions defined by
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a+b+2c a b
If c 2a+b+c b =2 thenad® + b + A —3abe=
c a a+2b+c
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. :] =
c 2a+b+c b =2 wond, a+b 4+ —3abe=
c (1 a+2b+c
Options :

1 —3ab—3bc—3ca

1—2ab—2bc—2ca

Question Number : 5 Question Id : 1874634005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



1 1
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E i1 =1.8
. b 2 4 4 -3 1
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The equation whose solutions are the non-zero solutions of the equation Z =iz~ . is
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Let £(x) =x° + 2x + 2. g(x) = —x> + 2x — | and a. b be the extreme values of 7 (x), g(x)

respectively. If ¢ is the extreme value of — (x) (forx # 1).thena+2b+5c+4=
or
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The set of all real numbers satisfying the inequationx™— [x +2|+x =0 1s
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If o, B, v are the roots of x* — 63> + 11x — 6 = 0, then the equation having the roots
o+ B PP+ Y and P + o is

o B,y en £ — 6+ 11x — 6= 0 G, Soreren wond, o’ + B, B2+ 7 ®bcsw v + o
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If the number of elements in the sets G and A are 3 and 4 respectively. then match the items
of List I with those of List II.
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A)  The number of non bijective
functions from G * Gto G
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B) The number of bijective functions from A to A B
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C) The number of functions from Gto G » A

G&ood G x A8 He Hlocire Sopg oy, 4
D) The number of surjective functions from Ato A < A i
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There are 20 straight lines in a plane such that no two of them are parallel and no three of
them are concurrent. If their points of intersection are joined. then the number of new line
segments formed are
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Let a,. a,. a,. .... a,'e Rbe in an arithmetic progression and let C, C,. C,. .... C, be the

L
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3 37 3.79
If x=—+ - +....then 5x+ 8=
10 10.15 10.1520

3.7 3.7
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4 ;
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Let [x] denote the largest integer < x. If the number of solutions of

sinx \f4cos” x = 11—[[1]] 1s k. then for x € {I .—} . the value of K™
—x+|x .
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2 2
If oo and [ are the least and the greatest values of f(x) = (5'111_1:(] +(C05_1.T] for all

xv'e R respectively. then 8 (a+ P) =
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If xe [——J .then log secx =
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The area (in square units) of AABC if /A =75° /B=45° and g = 2(\@ + 1) 1s
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Ina AABC.if 3a=5h+ c. then CDT? cm? =
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It 3?—2}—?. 2i +3j -4k, —i +j+2k and .4?+SF+JE are respectively the

position vectors of four coplanar points P. Q. R and S then A=

3i 27 —k.2i +3] -4k, —i +] +2k 500050 4i +5j+ Ak eo S&dm Treo
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RSOk DochPes P. Q. R, S o Bug, s 6w eond, ey A=

B
[N

Options :
20
L 17

46

I i

146
3 17

146

7

Question Number : 30 Question Id : 1874634030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If OA =27 +27 +k.0OB =27 +47 +4% and the length of the internal bisector of ZBOA
of triangle AOB is k. then 9% =

OA =27 +27 +k.0B =27 +4] +4k 500050 Bebasn AOB &' LBOA &g, ©08s

. . = : i o 2
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Ifa4+xb+16=0.axb+bXF+TX0 = 6(27)(?) . then the locus of the point (x. v) 1s

G+xb+yE=0.axb +bXxT+TxT=6(bXT) wond, wiyd (r.) Dodolh BwE,

x+v+6=0
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LetA=(o.1.20).B=(3.1.2)and C=47 — j+ 3k .If ABXC =67 +9j—5k. then
2

o+ ati=
A=(0.1.20).B=(3.1.2) %8000 C=47 — j+3k ©8cs. ABXC=67 +9j—5k
©wond, oy a+a+5=
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The shortest distance between the skew lines 77 = (6? +27+2k J + }‘(;.T -2j+ Zﬁ_) and

(=47 — k) +5(37 —27 —2k) is

T
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For a data consisting of 15 observations x; . 7 =1, 2. 3. ..., 15 the following results are
15 5.

obtained : Z x; =170; Z x; = 2830. If one of the observation namely 20 was found
i=1 i=1

wrong and was replaced by its correct value 30, then the corrected variance is

X, i=1.23. ... 15e3 155080 0D wd do70dSnb8, SiBod HOSIned
15 i
Treatdarda: Z.T,— =170; Zif =2830. 28" 20 ©3 of H0F05L SSvT HHAed, TR
5] Ll o
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The mean deviation about the mean for the following data is

Class mterval | 0-10 10-20 20-30 30-40 | 40-50 50-60 60-70

Frequency 4 6 16 28 16 6 4

S508 wosddo | 0-10 10-20 20-30 30-40 40-50 50-60 60-70
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A and B each select one number at random from the distinet numbers 1. 2. 3. .... # and
the probability that the number selected by A is less than the number selected by B 1s

1009
2019 Now. the probability that the munber selected by B is the number immediately next

to the number selected by A 1s
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There are 3 bags A. B and C. Bag A contains 2 white and 3 black balls. bag B contains 4 white
and 2 black balls and Bag C contains 3 white and 2 black balls. If a ball is drawn at random
from a randomly chosen bag, then the probability that the ball drawn 1s black. 1s

A B. Ced Sardy Hodhen €5 I7)000. ot As® 2 EEGJ S08csw 3 5%& 20683, Do
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The following table shows the probability of selecting the boxes A. B and C and the number
of balls of different colours contained in them

Box Number of balls Probability
White Green Red

. 5 X
A 1 2 3 5
1

B 2 3 1 ~
3

5 3 1 7 i
6

A box i1s selected at random and a ball 1s drawn from 1it. If it 1s given that the ball drawn 1s
green. then the probability that it has come from box C 1s

& (Bob HBK, Jwrdh DPew A, B, C 0 J0dEs Ko dorsgdd THS° ¢odd D)

Hoithe wodoe &ugpgéﬁc Bendooh.

_:.}@_J 20 ..f;ﬁua:;g ;505,:*335-&?
B3 Eﬂ!éa;’:aﬁlj Mlavhe)

g 3 | 1
A 1 2 4 5
B 2 3 1 .]
£ 3 3
£ 3 1 2 l
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If a random variable X has the probability distribution given by
P (X=0)=3C.P(X=2)=5C-10C" and.P(X =4)=4C —1. then the variance of that

distribution is

2.8 GSreyE SeoE X Bng), Dogrdgd dgredsn P(X=0)=3C>P(X=2)=5C-10C

005w P(X=4)=4C—1 ™ 3005536, & dgrado Ewg, H)8
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A box contains 30 toys of same size in which 10 toys are white and all the remaining toys
are blue. A toy i1s drawn at random from the box and it is replaced in the box after noting
down its colour. If 5 toys are drawn in this way. then the probability of getting atmost

2 white toys is

3 T@JE@*’SJ. 2.8 H0S5rmdn e 30 S h5mest, 10 Bodd, S AONS E.B:Q_‘ﬂ Qoo Joiiead.

EJ-
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For any value of 0. if the straight lines xsind+ (1—cos#) v =asiné and

xsinf— (1 +cosf)v+asin@ =0 intersect at P(6). then the locus of P(6) is a

0 G @ DeoodET, HUETpen ﬁ'ﬁiﬂﬁ*—k(l—casﬂ)‘r=nsi119 S0Bo%0
xsin@—(1+cos@)y+asin@=0 e PB) 3¢ pododbfotnod, el
P(0) Dododdo ol
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A line L has intercepts @ and b on the coordinate axes. When the axes are rotated through a
given angle 6 keeping the origin fixed. this line L has the intercepts p and g. Then
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If O 1s the origin and A and B are pomnts on the line 3x —4v+25=0such that OA =0B=13.
then the area of AOAB (in sq. units) s

O SoroDotd 500000 OA=0B=13 wdbgtrin A, B eo 3x—4y+25=056¢8sp
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Single Line Question Option : No Option Orientation : Vertical

If P (o, B) be a point on the line 3x + v =0 such that the point P and the point Q (1. 1) lie on
either side of the line 3x = 4y + 8. then
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Single Line Question Option : No Option Orientation : Vertical

Two vertices of a friangle are (5. —1) and (-2. 3). If the origin is the orthocentre of this
triangle. then the coordinates of the third vertex of that triangle are
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The distance from the origin to the orthocentre of the triangle formed by the lines
x+y-1=0and 6x> - 13xv+ 5H1°=01s
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The combined equation of two lines L and L, 1s 2% + axy + 337 = 0 and the combined
equation of two lines L and L, is 247 + bxy — 22 =0. If L, and L, are perpendicular.
then a® + b° =
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The power of the point B(—1. 1) with respect to the circle .S = x2 + _1-2 —2x—4y+3=01s

p. If the length of the tangent drawn from B to the circle S =0 1s 7. then the point (2. 3) with
respect to the circle S'= 0 having centre at (p. ) and passing through the origin
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If tangents are drawn to the circle x” + 37 = 12 at the points where it intersects the circle
7 L ! : z -

2 + 37 — 5x + 3y — 2 = 0. then the coordinates of the point of intersection of those

tangents are
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If the point of intersection of the pair of the transverse common tangents and that of
the pair of direct common tangents drawn to the circles 1> + 17 — 14x + 6y + 33 =0 and
¥ +17 4 30x =2y + 1 =0are T and D respectively. then the centre of the circle having TD
as diameter is
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If the circles 12 + 1 +2x+2=0and >+ r + 4y + 2 = 0 touch each other, then A =

2 - 2 2 2 .
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The equation of the circle whose diameter is the common chord of the circles

T D . . , :
Xy 2% +3p+li=0andx +)y +4dx+3y+2=01is
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If the focus of a parabola divides a focal chord of the parabola into segments of lengths
5. 3 units. then the length of the latus rectum of that parabola 1s
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The angle between the tangents drawn to the parabola 17 = 4x from the point (1. 4) is
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If the tangent drawn to the parabola 17 = 4x at (2. 2/) is the normal to the ellipse

4 + 5.1'2 = 20 at (ﬁ cnsg.isﬁlﬂ) . then
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If the tangents drawn from a point P to the ellipse 41> + 937 — 24x + 361=0 are perpendicular,
then the locus of P is
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The locus of the midpoints of the chords of the circle x> +17 = 16 which are the tangents to
the hyperbola 93> — 1617 = 144 is
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A(3.2.-1).B(4, 1. 1). C(6. 2. 5) are three points. If D. E. F are three points which divide
BC. CA. AB respectively in the same ratio 2:1. then the centroid of ADEF is

A(3. 2. -1). B(4, 1. 1), C(6. 2
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IfA=(1.8.4). B=(2.-3. 1). then the direction cosines of a normal to the plane AOB is

A=(1,8,4),B=(2,-3,1) wo:
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, ] a1 el E=] x—3. y=k =z -
If the two lines = = and = =— have a point in common.
2 3 4 1 2 1
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%2 (tan 2x — 2tan x}j B

lim <
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The number of tangents to the curve 17 (x —a) =x7 (x + a) (a > 0) that are parallel to the
X-axis is
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If f(x)=(2k+1)x—3—ke ™ +2e" is monotonically increasing for all x € R then the

least value of k 1s
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If the function 7 (x) = ax’® + bx’ + 11x — 6 satisfies the conditions of Rolle's theorem in

[1.3] and f’(i—i—L]:D.thelm—i-b=

i
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For a = 0. if the function 7 (x) = 2x° — 9ax” + 12a°x + 1 attains its maximum value at p and
minimum value at g such that p> = g. then a =

. 2 2 5 .
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If [casx- cos2x-cosSx dx = Asin2x+ Bsin4x+Csm6x+Dsin8x+4&

-

; . s ; 1
(where k 1s the arbitrary constant of integration). then ) + c =

[casx cos2x-cos5x dx=Asin2x+Bsindx+ Csin6x+Dsm8x+ £k
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The curve v= ax~ + bx passes through the point (1.2) and lies above the X-axis for 0 <x < 8.
If the area enclosed by this curve. the X-axis and the line x = 6 1s 108 square units. then
2b—a=
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The differential equation of all parabolas whose axes are parallel to Y-axis 1s
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. . dv : Lo T .
The solution of the equation —+ 2y tanx =sinx satisfyingv=0whenx="—_1is
dx 3
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Two intervals of time are measured as A = (2.00£0.02) s and At, = (4.00£0.02) s . The

value of {NI] (A#,) with correct significant figures and error is

Bod Todgher Ay =(2.00£0.02)s Sobcsn At =(4.00£0.02)s ™ Fosudsd.
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1

The speed of a particle changes from J5 ms™! to 24/5 ms™! inatime 7. If the magnitude

of change in its velocity is 5 ms™. the angle between the initial and final velocities of the
particle 1s
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If the maximum height and range of a projectile are 3 m and 4 m respectively then the
velocity of the projectile 1s
(Acceleration due to gravity = 10 ms™)
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Abody is projected at an angle other than 90° with the horizontal with some velocity. If the
time of ascent of the body 1s 1 s then the maximum height it can reach is
(Acceleration due to gravity = 10 ms™)
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The position-time (x—f) graph of a moving body of mass 2 kg is shown in the figure. The
mmpulse on the bodyatt=4s1s
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s A o : b S2d gl il
A block of mass ‘m’ is lying on a rough inclined plane having an inclination ¢ = tan™ (— .
5
; . . - s . ’ iy
The inclined plane is moving horizontally with a constant acceleration of a =2 ms ™ as
shown m the figure. The mumimum value of coetficient of friction so that the block remains

stationary with respect to the inclined plane 1s

(Acceleration due to gravity = 10 ms™)

dod dyrs B30y %cﬁ:ixrv odobB Trendod IR Db DeEdn JBdd

(ods Sedeoo = 10 ms™)
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Potential energy of a body of mass 1 kg free to move along X-axis is given by

=

(
L[T) = LT? — 1) J. If the total mechanical energy of the body is 2 J. then the maximum

speed of the body i1s (Assume only conservative force acts on the body)

X-wgo Sowd Deum 305 1 kg$sgos fo of 5509 p8a?g U(x)= {‘ xj ]
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A cylindrical well of radmus 2.5 m has water upto a height of 14 m from the bottom. If
the water level is at a depth of 6 m from the top of the well. then the time taken in minutes
to empty the well using a motor of 10 HP 1s approximately

(Acceleration due to gravity = 10 ms_zj

2.5m ngﬁ‘gﬁ e e o)
S8 wriio Sood béﬁﬁ:%u 6 m &hes® God, 10 HP 3rtrdids s5&riod, Sréd
@ Wodododo E}Q oo adareds’ Buldrdim

(585 Seeo = 10 ms™)
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A fly wheel of mass 1 kg and radius vector (2: +j4 Zﬁ']m 1s at rest. When a force

(3f +2j- 43?)3\“' acts on it tangentially. it can rotate freely. Then its angular velocity after
4.5s1s

B55078 1 kg Sobosn gy 564 (21 + j+2k)m fo o8 KeFes Sgo doBpas’
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Three identical spheres each of diameter 243 m are kept on a horizontal surface such that

each sphere touches the other two spheres. If one of the spheres is removed. then the shift
i the position of the centre of mass of the system i1s

)
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For a particle executing simple harmonic motion. the displacement-time (x - f) graph is as

shown in the figure. The acceleration of the particle at t=—s 1s
|
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Two masses 90 kg and 160 kg are separated by a distance of 5 m. The magnitude of ntensity
of the gravitational field at a point which is at a distance 3 m from the 90 kg mass and
4 m from the 160 kg mass 1s

(Universal gravitational constant = 6.67 = 107" Nm? kg_j)

So (GSgorden 90 kg Sobodw 160 kg en S m drdos” ShTAchadsd. 90 kg (5507w
S0é 3 m drdo Dodn 160 kg (@i55o7e od 4 m drdow $¢ do Doty 3¢ Mg
Sgo o), HEE HOSrmo

(DEgracods fTroso = 6.67x107 Nm® k™)

Options :
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The following four wires are made of the same material. If same tension 1s applied to each.
the wire having largest extension is

a) length 0.5 m. diameter 0.5 mm
b) length 1 m, diameter 1 mm
¢) length 2 m. diameter 2 mm

d) length 3 m. diameter 3 mm

& ob T dfw w3 Sagod’ SBrHTHEID. P8 S dird Sigd
ERFNoDIYD, J8S Fhdots &' H5dy &4

a) @& 0.5 m. g0 0.5 mm

b) &Y 1m orgddo 1 mm

c) @& 2m, FrgHds 2 mm

d) @D 3 m. orgddo 3 mm
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A liquid drop of density p 1s floating half immersed in a liquid of surface tension S and

density g . If the surface tension S of liquid 1s numerically equal to 10 times of acceleration

due to gravity. then the diameter of the drop 1s

S o8558 B0 g Fogshio (BH0S* p FoddKe (B5DHY o 588 50T

Beodor b, u |85 Soddgd S Jogrgdlornr HSESdnmIs 10 By wodd, (&S
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A block of metal is heated to a temperature much higher than the room temperature and
placed in an evacuated cavity. The curve which correctly represents the rate of cooling

(T 1s temperature of the block and 7 1s the time)
af S5 a3 A6 GPEs E08 wbE EBGEELE AT iy H5Gos
SoDTH. T 80E80ind Hom Srdodh [T
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A solid copper sphere of density p. specific heat capacity C and radius r is mnitially at
200 K. It 1s suspended inside a chamber whose walls are at 0 K. The time required (in ps)
for the temperature of the sphere to drop to 100 K 1s

(o 1s Stefan’s constant and all the quantities are in SI units)

p Fosd, C DBqrg FMoggo B00cH T TEPEED Ko o oh WIAERN Feod 200 K
SPES B¢ o, B 0K 3¢ Fdeo Ko of KBSot Bordbhord. Fdo GPHS

100 K S850 dibboto Dlpsrohn (Hs o)

EJ’-

(0 - < goroto Hboln e ordes SIRirared’)

e

Options :
-0C
48P
a

1 e
48 o

27 rpC
5 T

7 rpC
27 o



Question Number : 97 Question Id : 1874634097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the temperatures of the source and sink (T, and T, respectively) of a Carnot heat

engine given in List-I with the corresponding efficiencies given in List-I1.

e -l & onHwdS wf 578 GRofo@o BwE), I oSN doridiry
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(oMo (3dodm Ty S08cho T,) erder-I &° oWSc&N Dowold SESeE” sddid.
E i i

A)
B)
)
D)

T,=500K. T,=300K
T,=500K.T,=350K
T,=800K. T,=400K
T,=450K.T,=360K

The correct answer is
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A hammer of mass 200 kg strikes a steel block of mass 200 g with a velocity 8 ms™. If23%
of the energy is utilized to heat the steel block. the rise in temperature of the block 1s
(specific heat capacity of steel = 460 J kg™ K1)

200 kg Gagoraiio w8 08 8 ms! 3ed 200 g (S50 a8 iy, ARy 55‘@@&.
23% 48 &%y O:H IaTnLE GIBFMHES, BJ) SARSS® DG

(ev8, DIFY Fogso =460 Tkg K7)

Options :
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At a temperature of 314 K and a pressure of 100 kPa. the speed of sound in a gas 1s
1380 ms ™. The radius of each gas molecule is 0.5 A. The frequency of sound at which the
wavelength of sound wave in the gas becomes equal to the mean free path of the gas
molecules i1s

(Boltzmann Constant = 1.38 = 102 K™ 1)

Jl4 K ﬁfl;ﬁ-:‘ﬁ L8050 100 kPa 2880 ;’)g e.8 TrosnyS’ CSSEEI %& 1380 msL. TPOI00)
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At a temperature of 27 °C. two identical organ pipes produce notes of frequency 140 Hz.
If the temperature of one pipe is raised to 57.75 °C. the number of beats produced per
second 1s

Bod JTedhrs sre Mire 27 °C &yié 5¢ 140 Hz FaQsghnie oo a8\8
DhoTon. w8 Lo g, ess 57.75 °C & odd, of DEDH &8 odyg
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A source of sound ‘S’ m the form of a block kept on a smooth horizontal surface 1s connected
to a spring. as shown in the figure. If the spring oscillates with an amplitude of 50 cm along
horizontal between the wall and the observer O. the maximum frequency heard by the
observer i1s 12.5% more than the minimum frequency heard by him. If the mass of the
source of sound 1s 100 g. the force constant of the spring is

(Speed of sound in air is 340 ms™)

a8 oI §8a J8r0dd doopiio B w5 oS ) wf R a8 ‘8’ S o
Wras dgdom w8 fb&uﬁéa E0rd. L?b&oﬁ 50 cm 058 D0EE AEH S000in SHBLoBEt
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P)ngo 08 12.5% 259.35. dn =880 Gdog) @agoe? 100 g WONB, f&suﬁ B0y,
Qe %O"u&fu

(TOS® g2 36 = 340 ms™)

Wall
e

LR ARRRRERNNY

Options :

40N m
80N m™!
160 N m

320 Nm™

Question Number : 102 Question Id : 1874634102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A girl of height 150 cm with her eye level at 140 cm stands in front of a plane mirror of
height 75 cm fixed to a wall. The lower edge of the murror is at a height of 85 cm above her
feet level. The height of her image the girl can see i the muror is

o8 Adi Dhodadd 75 om Idie of SHode ddywo Jddr 150 cm I8y Sodoin
140 cm 508 Sodioiio &l wrdf Joad ed)d. ddywo BwE), Fod QS0 ords 3¢
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Options :
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Unpolarised light from air incidents on the surface of a transparent medium of refractive
index 1.414 such that the reflected light is completely polarised. Match the angles given in
List - I with the corresponding values given in List - I

worH0s 50é i ﬁ;ﬁe‘ﬁiﬂcﬁug Do 1.414 5858 omsofe b FOET) ey
md od wDd 5708 JE5Dhhd)d. =rde -1 * 02355228 §eredn

e -1 &° mej‘sa‘&@f) Soodd Jended adithshdn.

$e10 o

List-1I List-11
rdee -1 ade - 11
.l 12
A)  Angle of reflection ) 2sin -
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D) Angle of deviation of the incident ray V) cos™ ( %]
385 88mo Bwg, TS Fmo |

The correct answer is

DOGHE ddrerHo

Options :
A B £ B

on m I v

e
|
@]
|w)

H 1N
H D



-

= e

5 I
Sl

Question Number : 104 Question Id : 1874634104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The electric field intensity at a point on the axis of an electric dipole in air is 4 NC .
Then the electric field intensity at a point on the equitorial line which is at a distance
equal to twice the distance on the axial line and if the dipole is in a medium of dielectric

constant 4 1s

Options :

1 NC!

e
8

16 NC™!

Ml am
16
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Two small spheres of each charge *q’. mass ‘m’ and material density ‘d’ are suspended from
a fixed point with the help of inextensible light thread. When the spheres are in air, the
angle between the threads 1s 90°. When the spheres are suspended in a liquid of density

"
— d. the angle between the threads is 60°. The value of dielectric constant of the liquud 1s
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The potential difference (V, — Vg) in the arrangement shown in figure is
(gj=1pC.x=2cm, y=3 cm)

DLBVS® Hrud vNoES” FBICHS 2o (Vy—Vg) Jeid

(Jgg=1pC.x=2cm,y=3cm)
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In a parallel plate capacitor the separation between plates 1s 3x. This separation is filled by
two layers of dielectrics. in which one layer has thickness x and dielectric constant 3 K. the
other layer is of thickness 2x and dielectric constant 5 K. If the plates of the capacitor are
connected to a battery. then the ratio of potential difference across the dielectric layers 1s
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Assertion (A) : When a wire of aluminium and another wire of silicon are heated from
room temperature to 80 °C. the conductivity of aluminium increases and
that of silicon decreases.

Reason(R):  Aluminium has positive temperature coefficient of resistivity and silicon
has negative temperature coefficient of resistivity.

Dfgo (A): o¥ weorgdobo & H0din HTE LO5S R 1 GPYiS Dood
80 °C & 36T08Yk, weorgbdobo Trédio hhdd Sobokho
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Options :
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The walls of a closed cubical box of edge 60 cm are made of material of thickness 1 mm
and thermal conductivity 4 = 10~ cal s em™ °C™'. The interior of the box is maintained
1000 °C above the outside temperature by a heater placed inside the box and connected
across 400 V DC supply. The resistance of the heater 1s

wom 60 cm fo &f Sored Joarsd D Bng) Fdeor 1 mm Sodo Hodown
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A galvanometer of resistance *G’ 1. 1s shunted by a resistance ‘S’ £). To keep the main
current in the circuit unchanged. the resistance to be connected in series with the
galvanometer is

DFGo ‘G” Qo a8 megd® Srdfo ‘S’ Q JG'G0E Lodl DoLaddh. Sodbod® @eS
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A proton and an o-particle are simultaneously projected in opposite directions into a region
of uniform magnetic field of 2 mT perpendicular to the direction of the field. After some
time it 1s found that the velocity of proton has changed in direction by 90°. Then at this
time. the angle between the velocity vectors of proton and o-particle is

2 mT 508 el J508 wasidn, o8 BBSna N8 386 {5 vonom ol @ire $odain
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A bar magnet placed in a uniform magnetic field making an angle 6 with the field expenences
a torque. If the angle made by the magnet with the field is doubled. the torque experienced
by the magnet increases by 41.4%. The initial angle made by the magnet with the magnetic

field is
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A metal rod AB of length 50 cm 1s moving at a velocity 8 ms ™ ina magnetic field of 2 T. If
the field 1s at 60° with the plane of motion as shown in figure. then the potentials V, and Vg
are related by

50 cm FEHe w8 5N s’% AB. Sms ! 36506 2 T e 50d,08 BBoS” EthendaHb.
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In the given electrical circuit. if the switch S is closed then the maximum energy stored in
the inductor 1s
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Which of the following i1s/are the property/properties of a monochromatic electromagnetic
wave propagating in free space?

. : | : . T
a)  Electric and magnetic fields will have a phase difference .

b) The energy of the wave is distributed equally between electric and magnetic fields.
¢)  The pressure exerted by the wave 1s the product of its speed and energy density.

d) The speed of the wave is equal to the ratio of magnetic field to the electric field.
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The maximum kinetic energy of a photoelectron liberated from the surface of lithium with
work function 2.35 eV by electromagnetic radiation whose electric component varies with

timeas E=a [1 + cos[.’!}:ﬁ:‘]]cns 27 f>t (where ‘a’ is a constant) is
(f;=3.6x 10" Hz, f,=1.2 x 10" Hz and Plank’s constant = 6.6 x 107" J-s)
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Magnetic moment due to the motion of the electron in 't energy state of hydrogen atom 1s
proportional to

Eas S6SradS” 1S 8§ Fond® Jogs dodo Jod WA wchdod @riEo

o
& paetirdodraos dolnod

Options :

-2
1 H

3 i1

H



Question Number : 118 Question Id : 1874634118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The rate of disintegration of a radioactive sample i1s ‘R’ and the number of atoms present at

. g R i g3 2
any tune 7" 1s ‘N°. When 5 1s taken along Y-axis and ‘7” is taken along X-axis. the correct

graph is
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Question Number : 119 Question Id : 1874634119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For an LED to enut light in visible region of electromagnetic spectrum. it can have energy
band gap in the range of

(Plank’s constant = 6.6 » 10> J-s and speed of light = 3 » 10% ms™ in vacuum)

@8 LED Jéogd wohdnod Sgddio Rng), §TEd @rodod” 57080 ewdothbiy wl
5O GOLSNS §§ $8 wosto S8, T
6

—D

(0§ Porobo = 6.6 x 107" J-s 5800 &rdgoe® 508 $& =3 x 10° ms™)

Options :
0.1eV to 0.4eV

0.1eV o0& 04eV

0.9eV to 1.6eV
0.9eV &o& 1.6eV

1.7eV to 3.1eV
1.7eV oo 3.1eV

0.5eV to 0.8eV
A 0.5eV no& 0.8eV

Question Number : 120 Question Id : 1874634120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A transmifting antenna of height 20 m and the receiving antenna of height “h’ are separated
by a distance of 40 km for satisfactory communication in line of sight mode. Then the
value of ‘h’ 1s

(Given Radius of earth i1s 6400 km)

Sy B PBS* BoSMESHS BAbo TS 20 m e BY woBT) Ho0co I’
Jéfe rdrd woBmmes 40 km drdos® IhTdohadaron. wowd ‘h dewd
@rdo Fgrgo = 6400 km)

Options :
i 40 m



45 m

30m
3
25m
4.
Chemistry
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1874634121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; | gy i = Tt ; i ot 2
The energies of an electron in first orbit of He™ and in third orbit of Li~" in J are respectively

r

He™ &°0 3068 €88, Li” 6°0 Surds 8555 D068 dogse ihow 56Hsm I od*

Options :

879 M I g w1 ®
1.

_8.72 x 10718, _1.96 x 107

98107V 218 x 101
3

“FT e T 195 x TV
4,

Question Number : 122 Question Id : 1874634122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many orbital/s 1s/are possible with n=3./= 1. and m1,=—1 value?

n=13,1=1508c0 m=-1Je0ds I shird J0Jeron?

Options :
i

1.



[F%)

Question Number : 123 Question Id : 1874634123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If four elements with atomic numbers Z—2. Z —1. Z and Z + 1 are forming 1soelectronic
ions. the atomic number of the 1on having largest size 1s

1 3850 Dopgen o Toih Hrosos B Jt:gﬁ

S8Srmo e edire H8Srmd Sopg

L+

Question Number : 124 Question Id : 1874634124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the molecule in which the arrangement of electron pairs around the central atom 1s
octahedral and shape is not octahedral

BoE D80l thtar JOES 2o B0 vilndobor ¢od eiiudol eEB

E’x

-0

i1

[-=
80 wodd oo Mwioth
Options :
N Sk

XeF

BrF 5



XeO,F,
4

Question Number : 125 Question Id : 1874634125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wave functions of 1s orbitals of two hydrogen atoms are > Wy and Yg. Y, and Yy are
linearly combined to form two molecular orbitals (¢ and {5) Which of the following
statements are correct?

I) o©isequalto (Y, —yy)
) In o orbital. one nodal plane 1s present in between two nuclei

II) The energy of ¢ orbital is lower than the energy of G orbital

Bod @'aa Sddrmde Is sdirde sdof Ehdires Y, Yu Y, 0005 Yy e
SPodom E80 Bok wen whirdd (0 Soddio o) JGY0Trow. 1Bod FES* I

?Jﬂg_":"‘:srﬁ o).

D O, (Wy— Yp) & D555

) 0 wdrss’, Bod SoEse wEy SEd duind
M) owdird 3§, 0 wd\ird 4§ 0B &893

Options :

LILIIO
L. ITonly

II. IT only

L. IIT only

Question Number : 126 Question Id : 1874634126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The variation of vapour pressure (b) as a function of temperature (a) 1s studied for
C,H;0C,H;. CCl, and H,0O at 760 mm Hg and 1s shown in the figure below. The boiling
temperatures of C,H,OC,H.. CCl, and H,O are 308. 350 and 373 K respectively. Curves
A. B. C respectively correspond to

760 mm Hg ¢, C,H,O0C,H;. CCl5:80%0 H,0 0 eriybéae (b) S &3Es (a)Sdom
@goRB0S* §ob Lo ©Doed. CHOC,H;, CCl, 5005w H)0 o S sirises
S 308, 350. 373 K Simen A. B, C en $hdm 3688 $00050089.

b
M

760

Options :
H,0. C,H.OC,H.. CCl,

C,H,0C,H;, CCl,. H,O
CCl,.C,H.O C,H. . H,0

CCl,, H,0, C,H.0 C,H,
4

Question Number : 127 Question Id : 1874634127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



30.0 mL of the given HCI solution requires 20.0 mL of 0.1 M sodium carbonate solution
for complete neutralisation. What 1s the volume of this HCI solution required to neutralise
30.0 mL of 0.2 M NaOH solution?

200 mL & 0.1 M &¥&cho E‘-‘E*@E‘é'j' (&) «Jom ﬂ’&a%é&uiﬁ&ﬂjg 30.0 mL a35eé8
HCl rdmo wddddogéod. 30.0 mL & 0.2 M NaOH \derd) &g éh%ﬁﬂuﬁ&*&]%

Sod Pod505rm0s” HCl mrdmo edddtmsa?

Options :
, 25mL

: 50 mL
; 90 mL

i 45 mlL

Question Number : 128 Question Id : 1874634128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heat required to rise the temperature of 54 g of aluminium from 40 °C to 60 °C in J 1s

(molar heat capacity of aluminium i this temperature range is 24 J mol™ K atomic
weight of Alis 27)

54 g © worgdidcoho ¢FESH 40 °C Hod 60 °C Dohbk SEobs ego Jos
(& SIS ©5HS* varghIcho 3rors ¢3Edn 24 Tmol ™ K, AlSssragrdo 27)
Options :

| 480

800

12

960

, 1280

Question Number : 129 Question Id : 1874634129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The equilibrium constant at 850 K for the reaction
.sz o F Oy LT 2NO,, 15 0.5625. The equilibrium concentration of NO, i$3.0x10° M.
If the equilibrium concentrations of Ny and Oyq are equal, the concentration of Ny in M 1s

850 K58 .I\Iz : 8 R ZND{J’] el éﬁ:@“‘éﬁ & oro8an 0.5625. NOEz-} K}ﬁuﬁ““ﬁ&

Aa) i

()
mGS 3.0 x 107 M. 5508738 58 Ny, Oy

!

}W;a’crﬁm HDAF RIS, Nz(:)ﬂ—-'qﬁﬁﬁ M e&®

Options :
| 4.0 10~

4.0 x 1072
1.6 x 107
3

3.0 107
EY

Question Number : 130 Question Id : 1874634130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The solubility product of a sparingly soluble salt A,B is 3.2 = 107, Its solubility in
mol L7 is

A B3 voymidohd oSno &0k, @ssBabd ono deod 3.2x 107, od @Sdohs

mol L ex¢s*

Options :

| A 107
2% 10°*

6x10*

2% 107

Question Number : 131 Question Id : 1874634131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the volume (in mL) of 20 vol H,O, required to completely react with 500 mL of
0.02 M acidified KMnO, solution?

500mLe 0.02M @%E&éﬁ K_‘»-IHD‘,!@K}E&M@* I ﬁdgn‘?ocﬁu 20vol H,0,5080050m00
(mL &&°) Jos?
Options :

i 14.0

7.0

[

28.0

Question Number : 132 Question Id : 1874634132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

KO,. reacts with water to form A. B and C. B forms C when it reacts with 1odine in basic
medium. What are B and C respectively?

i

KO, O3 & Wogod, A Binbdin Coid J00thi. 370 oirstos’ BuRunded' WEgIol
C &0 L"Jdg&zfcaﬂ:. B 508c8n C e 385m 207
Options :

~ KOH.H,0,

K,0,.H,0,

L2

KOH. O,
3.

Hq Dz. Dz

Question Number : 133 Question Id : 1874634133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following :

I[)  Ga,0,is an amphoteric oxide.
) The dimer of aluminium chloride has three Al-CI-Al bridge bonds.
1)

Boron 1s very hard refractory solid of high melting temperature.

Bod T8S" JOTS ISdmeds ook

D Ga,0, a8 Brdcersd @%5.
) worgddhe 886 brwmgos® Surd Al-Cl-Al 5768 wogrencéraw.
) =ow WSS SBDJoN &f:li&:?.hﬁ&, wHE (BI5S w8 fo E::Jééa*gm.

Options :

| L. IT only

L. IIT only

I1. ITT only

" LILIIO

Question Number : 134 Question Id : 1874634134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following methods is used to prepare carbon monoxide on commercial scale?
8ol 2 g8 T SRHNIrTHE FEFd HGES” SarHBAE?
Options :
dehydration of formic acid with conc. H,SO,
05 eidrd) mg HyS0y & Eﬁgéédmu Dadatko
l. '

direct oxidation of C in limited supply of oxygen

e H0E wfmes” Hdgd wiEdmo Wohdo
1,



passing steam over hot coke

J&m Sof) '8 i 08 B Hoddo

heating lime stone

BHYSH 38 Bawbro

Question Number : 135 Question Id : 1874634135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

List-1 List-1I
A) Insecticide I) COD
B) K,(Cr,0,/50%H,S80, ) PAN
C) Bleaching of cloths and paper I) Na;AsO,
D) Eye Iiritant IV) BOD
V) H,0,

Bod ED 2SHRD

Rl ado - 11
A) dde Trdgo ) COD
B) K,Cr,0,/50%H,SO, ) PAN
C) HZod Hodhw The ol
5o Fobdo ) Na,AsO,
D) &0 H&DEo IV) BOD
V) H,0,

The correct answer 1s

PGS JBFTH0

Options :

A B C

I

1]]I v VvV I



e
(o8]
@)
@]

A B D
3]]II n v
A B € D
M | )1 M|

Question Number : 136 Question Id : 1874634136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For which of the following. Kjeldahl’s method is not used for the estimation of nitrogen?
Aniline Azobenzene Nitrobenzene Pyridine

(D (II) (1IT) Iv)

Berd JE80 IR Adanotbiost Bob F8Gt, U8 GOArioddo dhiids?
A0S IS BoES S BoES D&Y

(D (II) (1IT) Iv)

Options :

; I, II. IV

II. IIIonly

L-a

; II. TV only

53 41 85
4,

Question Number : 137 Question Id : 1874634137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the compound. which has maximum number of no bond resonance structures

20{dTrd BE D) Qoryeren H0D Efbua.)g@‘_‘ &) VRS0 HBothi.

Options :



CH,~CH,

Os

CH(CH,)_

©—2 ©-

Question Number : 138 Question Id : 1874634138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct?

I) Inmtrating mixture nitric acid participates as an acid

) o complex is the intermediate substance in electrophilic substitution of benzene

II) Benzene on Friedel-Crafts alkylation with n-propyl chloride gives isopropyl benzene

Bod &S DOGE DHdwen JID?

D IFEES dFosns® JBF wlo-wior Fdotnod

) BoBs Qw@ﬁ}@? HEE e iﬁdgeﬁ"'— (4] éuggu f)&ﬁjgf{% f):‘:}“gu

I BDodes (@S 5068 wES-Fn) 88 0500 Udy 2008 oI RS Bodad RO
Options :

1 I1. IIT only
. LIl only

; L. IIT only



LILIIT

Question Number : 139 Question Id : 1874634139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following functional groups 1s not meta directing?

Bod Pauch ddrSFos ot Q048 Jrrin 56 J6?

Options :

; —COOH

2 _NOE

- —CHO
~OCH,

4

Question Number : 140 Question Id : 1874634140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the radius of an atom of an element which forms a body centered cubic unit cell 1s
173.2 pm. the volume of unit cell in o’ is

. o

©0&Bo 08 W chrddl DE 6B HredY HEErw Tgdrgo 173.2 pmeansd dirdii v

- G
S
WaLbITreSY can e
Options
312 T
1.
i |
_ 64 x 107
el |
32 x 1072
3
fihy |
215 5 152
4,

Question Number : 141 Question Id : 1874634141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A solution is prepared by dissolving 10 g of a non-volatile solute (molar mass. “M’ gmol” Hin
360 g of water. What 1s the molar mass in g mol ™ of solute if the relative lowering of

vapour pressure of solution is 5 * 1077

10 go o8 eordRd @ado (Bred Bigod ‘M g mol™) & 360 g et EBhod

SPrHUDS (T Hwo D), Fwg a.a“fqﬁbdéﬁ WANG 5 * 10~ wownds* TR B0B00E),
QrerS (BB55078 glllﬂl_luﬁf‘ JoE?
Options :

199

99.5

[

299
149.5

Question Number : 142 Question Id : 1874634142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
x g of MgSO, (= 1.8) 1s in 2.5 L of solution has an osmotic pressure of 2,463 atm,

at 27 °C. What 1s the value of x in g?
27 °C 5¢ x g MgSO, (1 = 1.8) 2.5 L @dmod® 4k, ol (@ordddn 280
2.463 atm. eandd” X dend god® Jod?

Options :
332

%]

1

6.6

[

(%]
L

16.6

Question Number : 143 Question Id : 1874634143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The electrode potentials for
IMEJr (ag)+e”——>M"(aq)
M* (ag)+e ——M(s)

are +0.15 V and +0.50 V respectively. The value of Egd}._ A will be

M* (zo)+e ——M* (2o)

M*(m)w‘—am(@)

; K Te sl T e e —_ i TR 7 eorss . 0 b
©50 ngé DBYoHG) S6dm +0.15 V Hododn +0.50 V ewondd EM}*}’M e

Options :
1 0.150V

0.300V

0.650V

Question Number : 144 Question Id : 1874634144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The half life periods of a first order reaction at 300 K and 400 K are 50 s and 10 s respectively.
The activation energy of the reaction in kJ mol ™ is (log 5=10.70)

300K. 400 K © 5§ e 65 §iros $85 ogaing sereas $6bm 505, 10 s $8g
&82d 4§ kI mol os® (log 5 =0.70)

Options :

i 4.0

8.0

[

16.10
3



G 20.10

Question Number : 145 Question Id : 1874634145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements is correct for adsorption of solutes on solids in
solutions?

W DTT, ([@TRHET0 ol TATONR © ye R0t odron, 6 Mood Bod IStnos®
P8 wondh JH?
Options :

The extent of adsorption increases with an increase in temperature.

SIS DOHELS ©HTI BB DKKS08.

The extent of adsorption decreases with an increase of surface area of the adsorbate.

'_:éﬁ:ru&.
i

wHT N0 GR0de [T §o =00 E‘% @ he ﬂ{:gé'ﬁ &
The extent of adsorption decreases with an increase in temperature.

SYS DHDSOET ©hTHR IHB Sid0b.

The extent of adsorption does not depend on the amount of the solute in solution.

@hHT 5 QY ETH00S ' |TAS0 D0IFD0D BT EIED.

Question Number : 146 Question Id : 1874634146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identity the metal which is not common to German Silver and Brass.

aas‘.:"éﬁ pexd, agdo 5* & S0Gm (554 tﬁ*ﬁ:‘@gl fblotod.
Options :
Cu
1.
2. 2
Fe



Question Number : 147 Question Id : 1874634147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following reactions are correct with respect to the formation of products?

Boiraarge Sdom Bob Sjes” A S0GBod?

) 2NaOH+S0,——Na,SO, +H,

) 2XEF, 30,52 59%e0, + 75

) PClo+4H,0——HyPO, + SHCI

IV) 2NaNO, + 2HCl—2NaCl+ NO + NO, + H,0

Options :
| LIV

OL IV

[

I.II

.10

Question Number : 148 Question Id : 1874634148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Chlorine oxidises sulphurdioxide in the presence of water to give an oxyacid A. Chlorine
also oxidises iodine in the presence of water to give an oxyacid B. The oxidation states of
S and I in A and B are respectively

.~, 80 Dobod f-“.t.ié:j B0 A xd0od. o

£685, $0y8 3 6B)ER I8 SHoes’ wl)
Do BO3 wBaEIH IS Mo’ wiEdmo mIod whuio B S muEs.

o ==

A So0ain Bod' S.To wiEdm %&tb sTebbSTon

£

o
-

" 5

Options :
| S



+6. +3

3 +6, +5

4.4

Question Number : 149 Question Id : 1874634149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

White phosphorous is heated with concentrated NaOH in CO, atmosphere to forma gas A
and compound B. When A 1s bubbled into aqueous CuSO, solution copper phosphide and C
are formed. B and C are respectively

80 ﬂ'é&dﬁéﬁ:} m¢ NaOH &' CO, ororddmos’ 36a0058 w8 o dingd A HHdokhn
Eéfaag#’éﬁn B e Dé&&;m. A CuSOyze @Tdeod's Son0dPd &

2do3n Cen Doﬁa‘*w(.m. B 803w Cen Séam

Options :
| PH;.HSO,

NaH,PO,.H,SO,

NaHPO 2 CuS

NaHJ PDE. C‘ujS

Question Number : 150 Question Id : 1874634150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following set of elements do not possess f-electrons?

fFlogsen 8 Sroso S8 Bod T8S" I6?

Options :

: Fat1lr

, La.Th.Lr



; La Ac. Th

4 Ce.Ac.Th

Question Number : 151 Question Id : 1874634151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The A, of a coordination cmnplex of a metal 1on (%d )is 1000 kT mol . If the energy of tye
orbitals is —400 kI mol™. the ener gv (in kJ mol™ ) of e, orbitals 1s

28 ' oo (3d') SHosgal BogaH Agdeos 1000 kI mol ™. t esgyire) ¥

L.u:n:

EI

—400 kJ mol ™! esoa08. egaa&g&r% 28 (k] mol ' &&%) Jog?

—O

Options :

| —600

600

[

1000

400

Question Number : 152 Question Id : 1874634152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many of the following polymers given. come under the category of condensation polymers?

Bakelite. Teflon. Nylon 6. Dacron. Polyisoprene. Melamine. Neoprene

e
o

o

28

aBeeds Q) oG Hoss FOKE 5508 Bokheron?

&, BIS, U8 6, BE°N, FOLFS, VOIS, IATES

513
FC

Options :

. 4



Question Number : 153 Question Id : 1874634153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identity the correct set from the following.

v o3

Bod T°8S® H8GON WY HBoUuod.

Options :
Vitamin Source deficiency disease
Deaw Sa\d o €5 ST e
ad— i - l )
B Milk convulsions
Bg rex RE RN
L.
Vitamin Source deficiency disease
SERE w8 Pio S*oR BTy 2eady
- D —D ) 2
K Leaf vegetables anaenia
. K wHEres o bt
Vitamin Source deficiency disease
DR &8 Fdo R STy 220
= b — [ o
e Fish SCUrvy
= 4 - ks o
: & DHen STRETS
Vitamin Source deficiency disease
SRR WG TNo S'HR STy 2
- D —D ) 2
D Citrus fruits ricket
D DO Do O84S
4 = =

Question Number : 154 Question Id : 1874634154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which one of the following contains —As = As— i 1ts structure?

& 80d 73 B T 0’ —As = As— &odnod

Options :
Ranitidine

| BABAES

Saccharin

FE6R

Salvarsan

53“?.:5553“5
3.

Seldane

=y =
. fd%n.l

Question Number : 155 Question Id : 1874634155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

What are X and Y in the following reaction sequence?

Bob HES Wdgud® X Hddin Y DD?

H,C
H T Br
IC_EH5
Options :
X
H.C
H '|'|||.'.'||""' CN
C,H,

KCN H,0*
Oy >
SN 2
'&?’
CH3
HDZC 'I'-'ll.'_l_”rl.H
CJHj



CH, CH,
NC |.'I|r|-_|||”H HOIC n'.'n,-_i.”',H
C,H; Cij
X o)
CH,
NC | 'I|||'J|r_|H
C:Hj
3.
X o)
H,C H,C
H-,u_u.nl':"' CN H.ml%i CDEH
C,H, C,H,
4

Question Number : 156 Question Id : 1874634156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following sets is in the correct order regarding the property mentioned against them?

Sets Property
I) NCCH,COOH=>FCH,COOH=>H,CCH,COOH acidity
) CH,CH,CHO=>PhCOCH,>PhCHO reactivity
) H,COCH,CH,<H,CCH,CHO<H,CCH,CH,0H boiling points

Bod &3St ort3 oo _5}5’;‘,3.’16‘3 t:'c“éﬁ.i% wonofoda fag:{} Sodoen 97

e [ Ts] 10
I) NCCH,COOH-=FCH,COOH=>H;CCH,COOH @ﬁ%aﬁ‘gu
) CH 3 !CTH2 CHO = PhCDCHE =PhCHO ﬁo*g@u éh
1) H,COCH,CH; <H;CCH,CHO < H;CCH,CH,0H &“ﬁ&dﬁ:‘é EJ&L

Options :



I. T only

L. IIT only

[

II. IIT only

, LILII

Question Number : 157 Question Id : 1874634157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the products (X. Y) and reaction mechanism (Z) of the following reaction?

Bob SS5S* AYB eEyTes (X.Y) $00050 &R Homg dFTES0 (Z) Ko fgotsm.

o '

Options :
X Y Z

1 # OH I SNl
X Y Z

e OH I SN2
X Y Z

AI OH S'Nl



I OH SN2

Question Number : 158 Question Id : 1874634158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the products formed when an aldehyde (RCHO) is reacted with Tollens reagent?

2§ w@r& (RCHO) & &°85) 5°6808° S85modsd Doyd Soiraages D27
Options :

Ag.H,0.RCH,OH. NH,;
l. =

Ag.H,0.RCOO™H,
Ag. H,0.RCOO™. NH,
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Question Number : 159 Question Id : 1874634159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following species are involved in the formation of an ester from a carboxylic acid in
the presence of acid. The correct sequence of formation of these species is
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Identify the reagents (X. Y. Z) used in the conversion of 3-methylaniline to 3-nitrotoluene
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NaNO,. HCI HBEF, NaNO,. Cu, A
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.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 1 41 2 81 2 121 1
2 2 42 2 82 4 122 4
3 3 43 4 83 3 123 1
4 1 44 3 84 1 124 3
S 2 45 1 85 2 125 4
6 3 46 3 86 2 126 3
7 1 47 4 87 1 127 4
8 1 48 1 88 2 128 3
9 3 49 1 89 3 129 1
10 3 S50 4 90 2 130 2
11 1 51 3 91 1 131 1
12 3 52 2 92 2 132 4
13 3 53 2 93 1 133 2
14 1 54 4 94 2 134 3
15 1 55 2 95 2 135 2
16 2 56 1 96 2 136 1
17 2 S7 2 97 4 137 4
18 4 58 3 98 2 138 1
19 3 59 1 99 2 139 4

20 3 60 2 100 1 140 4

21 3 61 3 101 3 141 2

22 3 62 4 102 3 142 4

23 3 63 1 103 4 143 3

24 2 64 1 104 4 144 3

25 3 65 3 105 1 145 3

26 4 66 4 106 1 146 4

27 2 67 1 107 4 147 2

28 4 68 3 108 4 148 3

29 4 69 2 109 3 149 2

30 2 70 1 110 1 150 3

31 2 71 3 111 3 151 2

32 2 72 2 112 4 152 1

33 1 73 1 113 2 153 1

34 3 74 1 114 4 154 3

35 2 75 4 115 2 155 2

36 2 76 3 116 4 156 2

37 2 77 4 117 2 157 1

38 2 78 2 118 4 158 3

39 1 79 1 119 3 159 2

40 4 80 1 120 2 160 1
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